SOLVING LINEAR
SYSTEMS:

Using Substitution
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® Substitution Strategy

OA method in which a variable in one
expression is replaced with an equivalent
expression from another expression, when
the value of the variable is the same in both.




BEEGLDEAS (EQIN )

HOW TO SOLVE USING SUBSTITUTION:

1. Number the equations. ©® and @

2. Choose a variable to solve for.

3. Solve for this variable, creating a nhew equation. ®
4

. Substitute ® into the original equation that was
not modified.

Expand, simplify, and solve for the variable.

Substitute the value into ® to solve for the
remaining variable.

7. State the point of intersection.
Verify, if necessary.
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CAAMFLE #1

Solve the linear system and verify your

SOIUTiOn. Equation1: 2x+y=5
ZX@:5 o=>»y=5-2X o s
=2x+y
x-3y=13 @ 2413
-8-3
Substitute @ into @. Substitute x=4 into @ . =5
x-3(5-2x)=13 y=5-2(4)
X—15+6x=13 y=5-8
/Xx—15=13 y=-3 s
/x =28 =(4)-3(-3)
X =4 0

:13

. the point of intersectionis (4,-3).
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® What if you had chosen the other
variable? Would you get the same
answer? Let's see...

2X+y=3 o
®3y: 13 @ =>»x=13+3y o
Substitute @ into . Substitute y=-3 into .
2(13+3y)+y=5 X =13+3(-3)
26 +6y+y=>5 x=13-9
26+7y=95 X=4
7y =-21

y—_3 .. the point of intersectionis (4,-3).
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Solve the linear system.

® 3X+y =95 —% "1 <6
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() x-2y =11 %‘%ﬂkﬁ _
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Solve the linear system.
OX — 2y = -16

-2X+y =17
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Solve the linear system.
y=-2X +9

y =3X-1
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Directions Match the system of equations with the modified equation that can be
used to solve the system of equations by substitution. Draw a line between the
system and the equation used to substitute.

2x +y =11
X=-y=2

4x -y =7
5x -8y =2

2X + 2y = 4
3x - 3y =18

2X +y =1
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